5. From the following ratios and information

relating to the activities of ABC Ltd., find

(PG26)

Roll No. ....coevereeerrerenens

out :

(a) Sales for the year 2021

(b) Sundry debtors as on 31-12-2021
(¢) Sundry Creditors as on 31-12-2021
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Debtor Velocity 3 months
] D
Creditor Velocity 2 months 1OMC-102
Stock Velocity 6 months Time : 3 Hours Maximum Marks : 80
Gross Profit Ratio 20%
Note : Attempt Five questions in all. All questions
Gross Profit for the year ended 31-12-2021
carry equal marks.
was < 5,00,000. Stock as on 31-12-2021 was . - & gt
. . IW [NT | F
20,000 higher than that of opening stock. N .
. . . Ik THA T |
Bills receivables and bills payable were
% 60,000 and ¥ 36,667 respectively at the end 1. Define the following :

of the year.

ste fafiee =1 wiafafial | weftd fefafed

oIl 3R WHeW W I wifeT
(a1) a9 2021 & foaw fam!
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(1)

(i1)
(iii)
(iv)

Objectives of environmental accounting
Limitations of Inflation accounting
Scope of financial accounting

Major  differences between  Cost

accounting and Management accounting
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(v) Objectives of Cash Flow Statement
(vi) Nature of Financial Statements
(vi1) Common size statement

(vii1) Value Added Accounting.
frfafad @1 gRafa s -

(i) AU @R & 3evd

(i) TEEEIf o@id &

(i) fodm <@i®d &1 &=

(iv) W@ @l R yaue @i & o
TG HT
(v) 795 WER T & 3T
(vi) fa<iia faaon &1 wefa
(vil) HHF SRR Kl foaeror
(viii) qea  afdfad a@iea |
Unit I

ECOER |

Define accounting concepts and accounting
conventions. Explain the various accounting

concepts and accounting conventions.
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WEhT  FTUNUIS SR @ik URAieal ol
gt wifew | fafy= dgieT sraumone
3R EiRd URdiedl ® AR ®IST |

What 1is the significance of Accounting
Standards ? State the procedure of preparation
of accounting standards in India.

kT HARI K F He € ? WRd H
TR AHE IR I B TRl HT ool
SIS |

Unit II

ECIER ||

What do you mean by trend analysis ? How
are they more wuseful than single year
statement ? What precautions should be taken

in trend analysis ?

g fovelwor § oM @ HWEHEW § 2 A UH
a9 & foeor @ sife ST W € 2 e
fovemm & @ wWEtEl e =T ?
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payment of I 100 a 7% mortgage loan
was raised for the balance.

(i) Dividend of I 800 was paid during the
year.

(iv) A sum of I 1,390 was transferred to

provision for taxation account in 2015.

Ted feew fafiees = fmafafea dufa
qoF e qer-UAl o1 AfaE gaei § ad
2015 & fau Uhg wae foeor dar i
I. @uar 3T arfae 2014 2015

3 3
ster goit 7,000 8,000
e it 900 1,100
EIGRIEGENE R 2382 3,082
7% SHEH FOT -- 2,000
ISR 690 600
3T A 200 140
HT YEHH 100 140

11,272 15,062
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(9) 31-12-2021 #I fafay =R
(F) 31-12-2021 & @R fafay o &_R

() &ffeaw Tefaar |
SRR o 3 mWEN
SRR AT 2 TEH
& an 6 T
ghd Y STU 20 %

31-12-2021 < AT 99 & fd¢ Hha o9
T5,00,000 o | 31-12-2021 W =i Yo

2fh &I g § 20,000 Afuw e 9§ &
g °§ W foa SR 9 e wEv: T 60,000
3R T36,667 o |

Unit I

et 111

State the effect of the following transactions

in a Cash Flow Statement :
(1) Payment of dividend
(1) Profit on Sale of Machinery

(1) Purchase of building by issue of shares.
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Twal yag foam # fefafad @-39 &
JHE ® I DT

(i) AT w P

(i) wENG & fokr W@y

(i) TR S &b 9o w1 BT |

7. From the following condensed comparative
Balance Sheets of Hotel Hills Ltd., and
additional information, prepare a Cash Flow

Statement for the year 2015.
I. Equity and Liabilities 2014 2015

% %
Share Capital 7,000 8,000
Share Premium 900 1,100
Retained earnings 2,382 3,082
7% Mortgage loan -- 2,000
Creditors 690 600
Outstanding salaries 200 140
Provision for taxation 100 140

11,272 15,062
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II. Assets

Additional information :

(1)

(i)

Plant & Machinery

Accumulation Dep.

on plant and mach.

Building
Accumulation dep.
on building

Land

Stock

Debtors

Prepaid expenses

Cash

6,200 6,600
(3,700)  (2,620)
9,500 11,600
(4,300)  (4,500)
1,000 1,200
1,022 962
860 760
72 80

618 980
11,272 15,062

Plant costing < 1,600 (accumulated

depreciation ¥ 1,480) was sold during the

year for < 120.

Building was acquired during the year at
a cost of ¥2,100. In addition to cash
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II. wHufwar
e [ ) 6,200 6,600
T i Wi W
Hod Hed B (3,700)  (2,620)
T 9,500 11,600
T W G oA

LS| (4,300) (4,500)
CIE| 1,000 1,200
Tl 1,022 962
TR 860 760
TR 72 80
Ths 618 980

11,272 15,062

ffafer g
i) @8 & <A T1,600 (Hed Heaw™

T1480) &I @F@ e Wi T 120 H
g9 T

i) @ & <A T 2,100 H @rE@ F oA
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ST SHUBU TohdAT T e | 100 & 9. What are the various methods of Human

THE A & ST I U & o Resource Accounting ? Which one of them
7% §UH BV SoEl AT en | will you recommend for adoption in India

under the prevailing circumstances ? Give

(iii) o & < TRO0 H AW H M
_ﬁv_qTTmTl

Wﬁﬂﬂ@% ik & fafe=r fafimi
§!

reasons.

—v)zols — —— 7ﬁwqﬁﬁaﬁﬂ‘rﬁmwﬁaﬁu€m
nit

- . U0 ssyQ¥ s - --rFTT¥7T¥|—“m§mmm

8. “The objectives of responsibility accounting is

not fo place blame. Instead, it is to evaluate

the performance and provide feedback so that

future operations can be improved.” Critically

analyse the statement.

——HC] IR R Ig¥d sH bl T Al
—— T | ga@w,%uﬁwn@’m
——— T H YR TRAT ST G || 3H HEH
e  THAEAHE  [AIAT0] DI |
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